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2.4. Advanced Algebra DATE: ?!}?' Ef
Writing Equations i
- ™\
With your partner, fill in the blank to recall your prior knowledge.
» Giventhe slope-intercept formy = mx + b, m represents the ) ID ft'
and b representsthe Y = mtercept : 1
- Yo=Y YimVa
» The slope formula is _ ™M ~ — 9
P Kl —X ] ’ T’.‘:’I - ‘xl
*+ The slopes of parallel lines are €.q U“ll
» The slopes of perpendicular lines are U!‘lﬂ'ﬁ }e M‘-le l'bf’_@lg
and their product is always equal to -l
\. oo y,
- N
Example 1
Write an equation in slope-intercept form of the line with slope —% that passes through (-4, 1).
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Example 1 X y e
Write an equation in slope-intercept form of the line with slope —% that passes through (-4,1).
— 2 —
m ” Sla[’ﬂ [ﬂl‘E{{,trf form 1s° congitions
Uitip'y |
frodhons qdpj'j) _amx+b < Sybstitvte slopt valve and %,y Valves
a7 = s s for b o Ered T vl |
- w o
*-%a L l :-,}.._o""l‘l‘l) < Now "
=T 1= 9T > C = mX +b
—C - [-mql ans: y-,_._ _—
W -
D= b ¥="7%
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Example 2 AR Xz h 1
Writean equation of the ling that passes through (-1, 4) and (-4, 5)? Y _ v
) - _I_ . m - Q I
Same process ons Ex | bub need glope +irs+ |
— Ko =¥,
\/zmmfb Choose (-14)or (-4:5) Clopt
I‘“ df\OD;E.. C" [l.ll)
=L+ e
) =3
‘-’ - : "l_ﬂb .F —
), Mol LyBde gebeido /
2e4= >3t S Finel ans: YomX + b
ingl ans . 3
jp= 1435
- - Y= Lok 13J~ L
=3k 4= :
N )
. N
Example 3 i
Write an equation of the line that passes through (-4, 3) and is perpendicular to the line whose £
equationisy = -4x - 1. ©
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